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Secondary Math 2 Unit 6 Review Name: fQ/U/\/—“ Per:

(

Multiple Choice
Select the item that best answers each question.

1) Whatis the lead coefficient of G x% 7x* + 2x5 + 6x2 ? 2x“’+51x5 +77 x“*.f_ @XL

a 1 b. 9 d 6

2) Which polynomial is a quadratic trinomial (2" degree, 3 terms) ?

a. x*+4x*+3 b. 3m-—13m?3 c. 12x5—4 @— X+

3

3
imolify (8 — 3n3 i - -30°-2 +n = —(@Nn
3) Simplify (8 — 3n® + 4n) + (=3n° — 2 +n) v@“ 2N +"_\___Q §1 =3 Tr} W +SN+ K
a. —md+5n+6 b, -n®+5n-1 c. 3n3+5n—1 —6n3+5n+6
N T %
4) Simplify (2n —2)(3n — 4) —A -
& en™—o N+
wn* -\4N—+B
Sa. }6n2—14n+8 b. 32n?2-64n+32 ¢ 6n2-2n-8 d. 25n%+35n+12

5) Simplify (7m +2)* = (’Wm@@ = 49m +u Myt

_—_—
HAm® + 28 M + 4
a. 49m?—4 b 49+28m+dam? [c [49mP428m+a  d 49mP+4

TR
6) Simplify (2x — wS) = Uy L@/i(_. lX~25
“YX =25

a. 4x?-20x-25 b. 4x*-3x-25 4x2 — 25 d. 4x%+25

7) Factor completely: 10x3 — 2x? = Z)(L (‘5)<“l>
wmmon fadtor

a. 2x2(5x) b. 10x%(x —1) c. 2(x3-x? 2x%(5x — 1)

8) Factor completely: 40n3 + 64n? — 15n — 24
: s i _
BY 9PINg g (an+8) -3(Sn+e) = (SN13)(Bn*-3)
a. (8n?+3)(5n-18) (8n? —-3)(5n+8) c. Bn*-3)(5n+3) d. (8n%+3)(5n-3)



9) Factor completely: x? — 3x — 10 -10

1
X426 SX10

AC Nethod os) X(x+2)-s(x+2)
I, -0 (x+DHx-9)
a. (x+5)x+2) b. (x—=3)(x—9) E](x—S)(x+2) d. (x—=5)(x—2)
10) Factor completely: x? + 15x + 56 XQ' 4 | X*M
a4 Meﬂwcf Q%g G +o(x+1)  (XFT)(x+)
(x +7)(x + 8) b. (x—6)(x+5) c (x+1)(x-7) d.  Not factorable
11)C Factor cggrz)lgely: 3r24+30r+27= 3 (T‘ 4|0 r‘+‘7)) (o) 3 (H")(H' ‘1)
TN r = (e 415+ 94r+9 C;?j;)
AC Netted 3(r(r+0+9Cren)) —

a: (F +90+1) b. @r+2hHr+l) &

aC
-9

12) Factor completely: 2x? + 3x — 9

AC Method

3r-9)(r -1

3(r+9)(r + 1)

2x*-3% X7 |

¥(2%-3)+2(2x~3)

(2%—2 (x+3)

a. 2x+3)(x-3) b. (x+1)(x-8) ‘ e S(Zx—B)(x+3) d @Bx-4Hx-3)
13) Factor completely: 3k% + 31k + 36 Ygl ‘3K1+WK'\'M

AC N& 326

@(31« +4)(k+9) b

14) Factor completely: 5x? — 49x — 10
AC Method

(]
B

v
3(k + 4)(k +

e

—0,; S

a. (5x+ 1)(x +10) (5x + 1)(x — 10) .

KGBRA4) +A(2kxH)
(@t (k+9)
(3 =4)(k—9) d.  Not factorable

Sx*-cox +Ix—10 ,

cx(x—10) +1 ()S“\O)
(x—10) (Sx+!

~3x+5)(x+10) d.

5Cx + 1)(x + 2)

15) Factor completely: 32n% + 80n? + 50n = .0 (l\on?_-*'ufon e ; 7—‘:9) 2 ( 5)2-
mmon Tacior - =70 2. 24D (S = 2N (4n+
perfect cquare Trinomal (Y2 )

a. (=8n2 + 10n)(8n + 10) 2n(4n + 5) 2n(4n - 5)? d. Can'tbe

factored

16)

prfect square frinomiad

a. (m-=-50m+5) b. (m-15)2

Factor completely: m? + 10m + 25 = (m)7'+2(m)(ﬁ) 3 Cg}z
(m+sYy*

(e ]m+sy d.

Can’t be factored



17) Factor completely: x2 — 9 (02._ (%YL

difference & Squares ) ¢ ¥+3)
(x+3)(x-3) b. (x+9)? c. (x-3)?%- d. Can’t be factored

18) Factor completely: 9b? + 4

T~ot factorable

a. (B3b+2)(3b-2) b. (=3b+2)(3b-2) c. (9b+2)? g d.l Can’t be factored

Free Response: Respond to each question thoroughly. Show your work!

21) Simplify: (—3x% + 7x3) m 25%) Ogm\o\'w I ke Terms
-2 2 3 - | 2 Y \te |
XT3 Y+ 2 Write in standavd form .

V.
(2 +10x2+ 2x7

22) Simplify: (7a

f T o
Sl el perfect cquares
4o+ 4abridab+ U™ rinomial.

Bﬂ a* + 2@ ab+ L+bz'_]

23) Factor completely: 84mn + 56km — 98m? — 48kn

B4ron ~ABm? 4 Sblem ~Yaikin,
“4m (—en +T1m)+ 8k (m - &n)
~l4M(OAM=-En) +8k (IM—n)

CIMm=en)(—4m +ok) = E_(‘lm—urﬂ(—"lm*-%k»)}

24) Factor completely: 9m? + 36m + 20

ac rrethnod
iml+u@+‘3_om+204
30
3m (3t 2)+10 (3mM+2)
3,60 [(am+2) (3m+10)
25) Factor completely: x* — 81 4-g|
diference of squares x>
9ives Yo 3 Y= (N5
onjugqte pawre. @(x%‘ﬂ
\-ggm,nw
oF squares

x—3)( X+ 2)(X+4) |



tacloring lade | ..

Directions: Trade papers with 12 different people to factor the following expressions.
You should NOT be factoring the same problem each time.

D Name: ”Name: (/OmW\Oh_@(XOV} Qt\(/?
7x° —63x 2m>+12m—732

= IX (x*—=9) D‘nﬁifr{@m@ = 2 (P xom—lp) 2

(7 £qMares {2(0-2YmM+8) | @;éj
{27 (x-3)(x+2) |

—\o

a Name: (A< M,()TJWOO{ o Name:ﬁfﬂq,pin\c}
2 &1 oC 3 B B
6k> —5k—4 Q 3y°+7y" —12y-28

OK=Bk 42k -4 Top | yReytT)-Y(Eu+T)

2N ) () ()

(2 ‘)(%K‘LDj Ik difference

ol equares
%—2}( +2) (%\ff T




B Name: U\ MO ’fQUrOF

18a’h — 30ab?

[bab (20 —5b) ]

uName: UOW\YY)OH fadvr) ac

x —13x2 + 42x gm
=x(X—By+42) Yz
—b77)
X (=) (x-1) | 70

‘ Name:(ﬁmmOﬂ fadhov )

54" =5 0\\%@”@/
qves
=5(x"~1) al
=507
= 5D+

differentcse
o 5q)qare%

{5(7—13(%6@7‘*@}

Name: HOVL\E\H\MJ
éx3 + 3xj —20x—15
X (4xt2) ~o(4x+3)

(¢-5)(4x+2)




u Name: 0(/ MW [p gr

4a*+20a+25 (0]

of (0466 100
Ha +0A+(0pv +29, F[0{#10
- | | = L\']lg

2,90

20.(204S)+5 (2 S)

(2045) (20t 5)

m Name: QC WY)OCJ
n°—18n—-40

e 4 ]
. 410
e
n(h+2)—20(0+2)  5.g

&(n—w)(n ﬂ;)t]

a Name;(/ommh 'ﬁAU\’OY} ac
Method
3x° +21x* —180x

2% (XX —00)  —W0
;10

-ax (x-8)(xt1)] 120
3,20

e Name: ()OmYYYOH \CQCWV
Avfference. of Cquares
m3n = mn3

k501§ <m1"‘nl>

=l mn (m*n](mmj |




